H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SMIEIA1B B B -
ig#] Sum M= NG JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 23.2 0.0 L 12.3 0.00 85 1017.5
2 232 0.0 BELE 121 0.00 83 1017.2
3 23.1 0.0 Jt= 12.3 0.00 82 1016.8
4 230 0.0 EE[A 12.0 0.00 84 1016.6
5 22.9 0.0 EB % 12.9 0.00 82 1016.5
6 229 0.0 Jt= 121 0.00 82 1016.9
7 23.1 0.0 EE[A 12.7 0.00 80 1017.3
8 234 0.0 Jt= 12.1 0.93 78 1017.6
9 235 0.0 EE[A 11.6 1.00 80 1017.9
10 233 0.0 HiLE 1.3 1.00 81 1017.9
11 236 0.0 1.3 0.95 79 1017.4
12 237 0.0 RILE 11.0 0.95 82 1016.6
13 23.6 0.0 Jt= 10.0 0.98 83 1015.7
14 240 0.0 ;] 1.2 0.90 78 1015.1
15 24.0 0.0 Jt= 115 1.00 77 10148
16 236 0.0 EE[A 11.6 0.48 85 1014.8
17 235 0.0 EB % 114 0.78 84 1015.3
18 235 0.0 Jt= 1.7 0.27 84 1015.9
19 234 0.0 HiE 11.2 0.00 85 1016.7
20 233 0.0 Jt= 1.8 0.00 85 1017.2
21 233 0.0 EE[A 125 0.00 85 1017.3
22 232 0.0 EB % 116 0.00 85 1017.3
23 233 0.0 Jt= 114 0.00 86 1017.2
24 233 0.0 HE 1.3 0.00 86 1016.8
HExA 24.0 0.0 12.9 86 1017.9
B/ 229 0.0 10.0 77 1014.8
- HEW 234 1.7 82 1016.7
=ar 0.0 9.24
EEE BT —%
EEFAB °C AEFHH °C
S=458 [ H296.30 37.0 SiESE [ H202.17 17.7
EFAH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
FRe% A H] mm/day ERmEAH] m/s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SMIE3IA28 B B B
ig#] Sum M= NG JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 233 0.0 JtE= 111 0.00 86 1016.6
2 233 0.0 BEiLE 1.0 0.00 86 1016.3
3 232 0.0 JtE= 108 0.00 86 1015.9
4 232 0.0 EE[A 108 0.00 85 1015.6
5 230 0.0 EB A 11.7 0.00 84 1015.6
6 23.0 0.0 JteE 116 0.00 83 1015.9
7 232 0.0 EE[A 12.2 0.00 82 1016.3
8 235 0.0 JtE= 12.1 0.65 75 1016.6
9 237 0.0 EE[A 11.9 0.83 77 1016.9
10 238 0.0 EB A 116 0.98 73 1016.9
11 23.9 0.0 Jt= 1.3 1.00 74 1016.3
12 2338 0.0 HiE 1.4 1.00 72 1015.1
13 24.0 0.0 JtE= 10.4 1.00 73 1014.7
14 24 1 0.0 HiLE 105 1.00 71 1014.1
15 24.0 0.0 Jt= 105 0.92 69 1013.4
16 240 0.0 EE[A 10.7 0.08 73 1013.4
17 24.1 0.0 EB A 10.9 0.00 73 10138
18 241 0.0 108 0.00 75 1014.2
19 242 0.0 RILE 105 0.00 76 10145
20 238 0.0 JtE= 12.1 0.00 80 10148
21 239 0.0 EE[A 1.3 0.00 82 1015.1
22 24.1 0.0 = 115 0.00 76 1015.1
23 24.0 0.0 = 10.6 0.00 79 1014.7
24 24.0 0.0 = 10.3 0.00 77 1014.6
HExA 24.2 0.0 12.2 86 1016.9
BRI/ 23.0 0.0 10.3 69 10134
H¥EH 23.7 1.2 78 1015.3
aat 0.0 7.46
BERNT—%
EEFAB °C AEFHH °C
S=452 [ H29.6.30 37.0 SiESE [ H202.17 17.7
ZEFHH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SMIE3IAA B B B
ig#] Sum M= NG JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 239 0.0 = 9.6 0.00 79 1014.2
2 238 0.0 EXb 9.8 0.00 79 10137
3 239 0.0 = 9.7 0.00 78 1013.1
4 239 0.0 EXb 10.1 0.00 79 1012.7
5 238 0.0 = 95 0.00 78 1012.9
6 239 0.0 = 9.4 0.00 75 10133
7 241 0.0 = 9.4 0.02 74 1014.1
8 24.1 0.0 = 9.8 0.67 76 1014.3
9 244 0.0 = 8.9 0.95 78 1014.6
10 245 0.0 = 9.3 1.00 78 1014.6
11 243 0.0 8.9 1.00 81 1014.1
12 241 0.0 R 8.7 1.00 83 1013.2
13 244 0.0 Jt= 9.0 1.00 84 1012.6
14 248 0.0 = 7.9 1.00 81 1012.0
15 247 0.0 Eab 8.9 1.00 82 10115
16 247 0.0 = 8.5 1.00 85 1011.6
17 248 0.0 = 8.3 1.00 83 1011.9
18 248 0.0 B R 9.4 0.50 83 1012.2
19 247 0.0 = 8.1 0.00 85 1012.9
20 247 0.0 R R 9.1 0.00 85 1013.1
21 247 0.0 Ek 8.2 0.00 85 10137 |
22 247 0.0 HEE 7.9 0.00 86 1013.9
23 24.6 0.0 EE 71 0.00 85 1014.2
24 246 0.0 = 7.0 0.00 87 1013.9
HExA 24.8 0.0 10.1 87 1014.6
B/ 2338 0.0 7.0 74 10115
- HEW 244 8.9 81 1013.3
a&T 0.0 10.14
EEE BT —%
EEFAB °C AEFHH °C
S=458 [ H296.30 37.0 SiESE [ H202.17 17.7
ZEFHH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
FRe% A H] mm/day ERmEAH] m/s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SMIE3IR4B B B B
ig#] Sum M= NG JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 245 0.0 Eb 6.6 0.00 87 1013.6
2 244 0.0 = 6.8 0.00 87 1012.9
3 244 0.0 = 6.7 0.00 89 10125
4 242 0.0 = 6.0 0.00 91 10125 |
5 24.1 0.0 = 6.3 0.00 91 1012.7
6 241 0.0 = 7.2 0.00 91 10132
7 242 0.0 = 7.0 0.00 92 10137
8 243 0.0 = 75 0.00 91 1014.3
9 246 0.0 = 75 0.33 90 10145
10 24.6 0.0 = 8.0 0.92 90 1014.6
11 247 0.0 = 78 0.93 88 1014.0
12 247 0.0 = 7.7 1.00 87 1013.2
13 24.8 0.0 = 7.2 1.00 88 1012.7
14 249 0.0 = 7.1 1.00 87 1011.9
15 249 0.0 = 7.4 1.00 85 10115
16 247 0.0 E 7.0 0.45 87 1011.6
17 24.6 0.0 = 6.9 0.52 89 1012.2
18 245 0.0 = 6.7 0.00 90 1012.4
19 246 0.0 = 7.4 0.00 90 10125
20 247 0.0 = 75 0.00 86 1012.9
21 248 0.0 R R 8.2 0.00 85 1013.3
22 24.6 0.0 HEE 8.0 0.00 86 10133
23 24.6 0.0 = 8.0 0.00 86 1013.4
24 244 0.0 R E 8.1 0.00 87 1013.0
HExA 24.9 0.0 8.2 92 1014.6
—B&/D 24.1 0.0 6.0 85 1011.5 |
H ¥ 245 7.3 88 1013.0
a&T 0.0 7.15
BERNT—%
EEFAB °C AEFHH °C
S=452 [ H29.6.30 37.0 SiESE [ H202.17 17.7
ZEFHH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SM1E3IASH B B B
ig#] Sum M= NG JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 245 0.0 Eb 8.4 0.00 88 1012.3
2 24.4 0.0 ENeaE 6.4 0.00 87 1012.3
3 244 0.0 HEE 6.8 0.00 88 10118
4 245 0.0 B R 8.6 0.00 88 1011.6
5 245 0.0 Eb 9.2 0.00 88 10118
6 246 0.0 EE 7.2 0.00 87 1012.9
7 245 0.0 ENE 56 0.00 90 1013.8
8 249 0.0 = 50 0.17 89 10145
9 249 0.0 ENE 6.5 0.85 88 10145
10 247 0.0 = 58 0.97 89 10143
11 248 0.0 = 6.3 0.48 90 1013.6
12 248 0.0 R E 7.0 0.90 90 1012.4
13 25.1 0.0 Eb 6.6 1.00 86 1012.0
14 25.1 0.0 ENeaE 53 0.97 86 10117
15 25.0 0.0 HEE 5.2 0.97 86 10115
16 25.1 0.0 3 41 0.68 88 1011.7
17 248 0.0 = 45 0.23 89 10118
18 245 0.0 = 5.1 0.00 92 1012.0
19 244 0.0 = 4.7 0.00 94 1012.4
20 245 0.0 = 4.1 0.00 93 1013.0
21 246 0.0 EaE 44 0.00 92 1013.0
22 243 0.0 = 44 0.00 94 1012.9
23 242 0.0 = 42 0.00 95 1013.1
24 242 0.0 = 49 0.00 95 10128
HExA 25.1 0.0 9.2 95 10145
B/ 242 0.0 4.1 86 10115
- HEW 246 58 89.7 1012.7
aat 0.0 7.22
BERNT—%
EEFAB °C AEFHH °C
S=458 [ H296.30 37.0 SiESE [ H202.17 17.7
EFAH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIESE [ H14.11.24 936.7
EREAR mm/day EREAH m./’s
SXAmE[ H10.11.26 2125 SXEE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SMIE3IA6H B B B
ig#] Sum M= &[] JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 242 0.0 Eb 5.1 0.00 95 1012.4
2 24.0 0.0 = 40 0.00 95 1012.2
3 24.1 0.0 HEE 35 0.00 95 1011.7
4 241 0.0 GE 45 0.00 95 1011.1
5 242 0.0 I 5.0 0.00 94 1011.0
6 242 0.0 T 47 0.00 93 1011.6
7 249 0.0 ek 2.8 0.13 92 10125
8 254 0.0 Sl 42 0.97 87 10128
9 26.1 0.0 3] 3.2 1.00 85 1013.6
10 26.6 0.0 ] 1.7 1.00 85 1013.6
11 26.8 0.0 S 2.0 1.00 83 10128
12 275 0.0 Gl 1.8 1.00 81 1011.9
13 26.3 0.0 Sl 25 1.00 83 1010.7
14 26.7 0.0 R 7 3.3 1.00 81 1010.0
15 26.5 0.0 Sl 35 1.00 81 1009.1
16 26.9 0.0 R 7 3.7 1.00 81 1009.2
17 279 0.0 75 25 1.00 73 1009.9
18 25.7 0.0 It 33 0.45 85 1010.2
19 255 0.0 i 2.7 0.00 86 1010.9
20 255 0.0 It 1.4 0.00 87 10115
21 25.0 0.0 E[%: 1.9 0.00 90 1011.7 |
22 248 0.0 HiLE 1.9 0.00 92 10118
23 244 0.0 HiLE 19 0.00 94 10118
24 243 0.0 = 1.7 0.00 94 1011.6
HExA 27.9 0.0 5.1 95 1013.6
B/ 240 0.0 14 73 1009.1
- HEW 255 30 87.8 10115
aat 0.0 10.55
BERNT—%
£EFHH °C AEFHH °C
S=458 [ H296.30 37.0 SiESE [ H202.17 17.7
EFAH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIESE [ H14.11.24 936.7
EREAR mm/day EREAH m./’s
SXAmE[ H10.11.26 2125 SXEE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SMIE3IATA B B B
2l Kim & EN) JEBES H FR i i KE
B °C mm 165 fiL m.’s h % hPa
i 243 0.0 HER 15 0.00 94 1011.4
2 24.3 0.0 Lk 1.6 0.00 94 1011.1
3 243 0.0 i 1.6 0.00 94 1010.9
4 244 0.0 ek 2.5 0.00 93 1010.7
5 244 0.0 3 24 0.00 93 1010.9
6 246 0.0 Bl 2.6 0.00 90 1011.2
7 253 0.0 B 2.9 0.38 86 1011.6
8 26.1 0.0 Bl 24 1.00 85 1012.3
9 274 0.0 7GR 7 2.6 0.98 78 10127 |
10 28.8 0.0 e 2.9 1.00 75 1012.7
1 275 0.0 i 38 1.00 77 1012.3
12 244 0.0 i 9.8 0.63 88 1011.8
13 23.8 0.0 it R 10.5 0.80 91 1011.0
14 230 0.0 A2 125 0.63 94 1010.6
15 233 0.0 (2[4 134 0.20 87 1010.3
16 235 0.0 itz 13.0 0.25 85 1010.6
17 237 0.0 E[A: 12.9 0.40 81 1011.1
18 235 0.0 &= 133 0.00 79 1011.3
19 236 0.0 ET3: 13.2 0.00 71 1012.1
20 22.8 0.0 titE 125 0.00 86 1012.9
21 223 0.0 ETA 12.9 0.00 90 10134
22 22.0 0.0 tx 12.4 0.00 90 1013.9
23 21.6 0.0 & 12.4 0.00 93 1013.9
24 22.0 0.0 E[%: 12.3 0.00 92 1013.7 |
B&X 28.8 0.0 134 94 1013.9
—B&/D 21.6 0.0 1.5 75 1010.3
B 242 78 87.1 1011.9
aat 0.0 1.27
BERNT—%
EFSEFCIE] °C AEFHA °C
SESE | H296.30 37.0 BESE | H202.17 17.7
ARFHH| hPa HEFHH| hPa
RESE | H5322 | 10245 BIESE | H1411.24 | 9367
EFEE HH] _mm/day EREAH] m/s
SABFE H10.11.26 | 2125 BAEE | H179.2 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SMIE3IASH B B B
ig#] Sum M= NG JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 22.0 0.0 L 11.6 0.00 93 1013.3
2 223 0.0 EE[A: 9.6 0.00 91 1013.1
3 227 0.0 Jt= 9.6 0.00 89 1012.9
4 22.0 0.0 jt= 10.7 0.00 92 1012.9
5 22.3 0.5 HiLE 1.7 0.00 93 1012.9
6 223 0.0 JteE 1.7 0.00 93 1013.6
7 221 0.0 EE[A 1.4 0.00 94 10145
8 22.6 0.0 Jt= 9.6 0.00 93 1015.2
9 23.0 0.0 EE[A 10.9 0.12 90 10155
10 232 0.0 HiLE 1.3 0.83 88 1015.4
11 232 0.0 Jt= 1138 1.00 88 1015.0
12 233 0.0 HiE 11.3 1.00 87 1014.2
13 234 0.0 JtE= 10.8 1.00 86 10138
14 234 0.0 EE[A: 10.6 1.00 88 1013.4
15 235 0.0 JtE= 111 1.00 86 1012.9
16 233 0.0 EE[A 11.1 0.67 89 1013.1
17 23.0 0.0 b= 115 0.47 90 10138
18 23.1 0.0 jt= 10.3 0.08 92 10145
19 23.1 0.0 1E 1.3 0.00 91 1014.9
20 233 0.0 Jt= 115 0.00 90 1015.6
21 234 0.0 1A 10.7 0.00 91 1015.9
22 233 0.0 Jt= 115 0.00 91 1016.1
23 234 0.0 B 108 0.00 90 1016.0
24 23.1 0.0 tE 1.3 0.00 92 1015.8
HExA 235 0.5 11.8 94 1016.1
BRI/ 22.0 0.0 9.6 86 1012.9
H ¥ 22.9 1.0 90.2 10143
aEt 0.5 717
BERNT—%
EEFAB °C AEFHH °C
S=458 [ H296.30 37.0 SiESE [ H202.17 17.7
ZEFHH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SMIEIAIR B B B
2l Kim & EN) JEBES H FR i i KE
B °C mm 165 fiL m.’s h % hPa
i 22.8 0.0 1A 11.9 0.00 92 10155
2 22.9 0.0 1A 12.4 0.00 92 1015.0
3 22.6 0.0 1A 12.3 0.00 92 1015.0
4 225 0.0 1A 11.6 0.00 93 1015.1
5 222 0.0 (A 12.3 0.00 95 1015.3
6 224 0.0 RiLE 13.0 0.00 94 1015.8
7 22.9 0.0 ET%: 12.8 0.00 90 1016.4
8 22.8 0.0 1A 13.4 0.00 89 1017.3
9 233 0.0 = 13.1 0.12 88 1017.6
10 236 0.0 RiLE 12.7 0.88 85 1017.7
1 2338 0.0 EiLE 122 1.00 84 1017.4
12 236 0.0 ETA: 12.9 1.00 83 1016.6
13 236 0.0 1A 12.9 1.00 85 1015.8
14 230 0.0 1A 132 0.43 86 10155
15 22.9 0.0 1A 12.8 0.78 86 1015.1
16 22.9 0.0 tE 13.1 0.00 86 1015.2
17 231 0.0 E[A: 14.0 0.00 82 1015.7
18 22.7 0.0 13 13.9 0.00 84 10165
19 21.9 0.0 E[3: 12.7 0.00 91 1016.9
20 21.6 0.0 1A 13.8 0.00 92 1017.6
21 21.9 0.0 1A 14.0 0.00 92 1018.0
22 21.3 0.0 E[A: 142 0.00 93 1018.0
23 214 0.0 & 13.9 0.00 92 1017.9
24 21.6 0.0 E[%: 14.2 0.00 92 1017.6
B&X 23.8 0.0 14.2 95 1018.0
BEEDD 213 0.0 116 82 1015.0
B 22.6 13.1 89.0 1016.4
aat 0.0 5.21
BERNT—%
EFSEFCIE] °C EEFRH °C
SESE | H296.30 37.0 BESE | H202.17 17.7
AEFERAH| hPa HEFHH| hPa
RESE | H5322 | 10245 BIESE | H1411.24 | 9367
EFEE HH] _mm/day EREAH] m/s
SABFE H10.11.26 | 2125 BAEE | H179.2 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

HM7E3IA10H B N _
ig#] Sum M= NG J2E B BE B i [UE
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 219 0.0 Jt= 116 0.00 85 1017.3
2 21.1 0.0 1A 122 0.00 91 1016.9
3 214 0.0 HiLE 1.7 0.00 91 1016.6
4 223 0.0 Jt= 1.4 0.00 79 1016.7
5 22.0 0.0 HiLE 9.9 0.00 87 1017.0
6 22.6 0.0 Jt= 9.9 0.00 83 1017.8
7 230 0.0 E[%: 11.5 0.00 71 1018.7 |
8 232 0.0 Jte= 11.2 0.00 76 1019.1
9 22.8 0.0 = 13.4 0.00 79 1019.4
10 233 0.0 JtE= 12.1 0.68 79 1019.1
11 231 0.0 B 134 1.00 78 1018.7
12 232 0.0 E[%: 12.6 1.00 76 1017.9
13 232 0.0 HiLE 12.8 0.85 78 1017.2
14 230 0.0 & 132 0.68 79 1016.6
15 23.1 0.0 Jte= 125 0.95 72 1016.2
16 232 0.0 HilE 124 1.00 72 1016.0
17 232 0.0 EEAd 12.8 0.77 75 1016.3
18 231 0.0 [ 133 0.00 74 1016.5
19 23.1 0.0 HiE 14.4 0.00 76 1016.8
20 232 0.0 HE 13.9 0.00 74 1017.6
21 230 0.0 A 135 0.00 76 1018.2
22 22.9 0.0 JtE= 147 0.00 76 1018.1
23 22.9 0.0 Jte= 141 0.00 72 1018.0
24 228 0.0 BlE 12.8 0.00 74 1017.3
H&X 23.3 0.0 14.7 91 1019.4
B/ 21.1 0.0 9.9 72 1016.0
- HEW 22.8 126 78.2 10175
Bt 0.0 6.93
BERNT—%
EEFAB °C AEFHH °C
S=452 [ H29.6.30 37.0 SiESE [ H202.17 17.7
ZEFHH hPa AEFHH hPa
s=5/F [ H5.3.22 10245 SIESE [ 141124 | 9367
FRCE A H mm/day EREAH m./’s
SAHETE[ H1011.26 [ 2125 SARE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

HM7E3IA11H B N _
ig#] Sum M= NG JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 227 0.0 H = 12.6 0.00 76 1017.0
2 22.8 0.0 EE[A 12.0 0.00 71 10165 |
3 227 0.0 EB A 116 0.00 74 1015.9
4 227 0.0 HiLE 11.2 0.00 74 1015.7
5 230 0.0 EEAd 108 0.00 76 1015.8
6 228 0.0 HE 1.3 0.00 75 1016.0
7 230 0.0 EE[A 10.6 0.00 76 10165
8 235 0.0 = 10.0 0.00 71 1016.7
9 23.7 0.0 = 8.4 0.83 70 1016.9
10 239 0.0 HiLE 8.3 1.00 72 1016.9
11 239 0.0 HiLE 9.0 1.00 69 1016.2
12 24.0 0.0 T 8.1 1.00 68 1015.6
13 239 0.0 JtE= 8.2 1.00 69 10148
14 239 0.0 EE[A: 8.1 1.00 70 1014.2
15 239 0.0 JtE= 7.7 0.92 73 1014.1
16 239 0.0 HiLE 7.7 0.45 75 1014.1
17 237 0.0 EEAd 8.8 0.30 77 1014.1
18 235 0.0 [ 9.8 0.00 78 1014.7
19 234 0.0 HiE 9.2 0.00 76 1015.4
20 234 0.0 JtE= 10.4 0.00 79 1016.1
21 232 0.0 EE[A 1.2 0.00 79 1016.3
22 22.9 0.0 EB A 105 0.00 77 1016.2
23 232 0.0 = 95 0.00 76 1015.9
24 230 0.0 = 8.7 0.00 75 1015.6
HExA 24.0 0.0 12.6 79 1017.0
B/ 227 0.0 7.7 68 1014.1
- HEW 234 9.7 73.9 1015.7
Bt 0.0 7.50
BERNT—%
EEFAB °C AEFHH °C
S=452 [ H29.6.30 37.0 SiESE [ H202.17 17.7
ZEFHH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

HM7E3IA12H B N _
ig#] Sum M= NG J2E B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 23.0 0.0 = 8.4 0.00 74 1015.1
2 22.9 0.0 8.5 0.00 72 1014.6
3 22.9 0.0 H = 8.0 0.00 72 1014.2
4 23.0 0.0 EE[A 75 0.00 69 1014.3
5 230 0.0 EB A 7.1 0.00 69 1014.4
6 23.0 0.0 HiLE 6.6 0.00 64 1015.0
7 232 0.0 ET%: 1.3 0.12 68 1015.7 |
8 233 0.0 Jte= 78 1.00 66 1016.2
9 233 0.0 EE[A 8.2 1.00 66 1016.3
10 235 0.0 EB A 75 1.00 65 1016.4
11 234 0.0 Jt= 71 1.00 70 1015.7
12 234 0.0 HiE 74 1.00 73 1014.8
13 235 0.0 JtE= 71 1.00 72 1014.3
14 237 0.0 EE[A: 6.5 1.00 72 10138
15 236 0.0 JtE= 6.9 0.97 71 1013.1
16 237 0.0 HiLE 7.7 1.00 74 1013.1
17 237 0.0 EEAd 6.9 0.83 74 1014.0
18 237 0.0 [ 7.0 0.27 76 10143
19 23.9 0.0 HiE 7.2 0.00 75 1014.9
20 24.0 0.0 Jt= 8.3 0.00 79 10155
21 240 0.0 1A 9.2 0.00 79 1016.0
22 239 0.0 JtE= 8.8 0.00 80 1016.0
23 23.9 0.0 Jte= 9.1 0.00 82 1015.8
24 240 0.0 BlE 95 0.00 84 1015.4
HExA 24.0 0.0 9.5 84 1016.4
—B&/D 22.9 0.0 6.5 64 1013.1
H 13 235 1.7 72.8 1015.0
a&T 0.0 10.19
BERNT—%
EEFAB °C AEFHH °C
S=452 [ H29.6.30 37.0 SiESE [ H202.17 17.7
ZEFHH hPa AEFHH hPa
s=5/F [ H5.3.22 10245 SIES/E [ H141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

HM7E3IA13H B N _
ig#] Sum M= NG J2E B BE B i [UE
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 24.1 0.0 H = 10.1 0.00 83 1015.0
2 236 0.0 EE[A 12.0 0.00 87 1014.4
3 238 0.0 = 12.4 0.00 82 10138
4 2338 0.0 = 12.2 0.00 81 10135 |
5 242 0.0 = 10.8 0.00 79 1013.9
6 240 0.0 = 10.9 0.00 77 1014.7
7 242 0.0 = 10.3 0.23 77 1015.4
8 243 0.0 10.9 0.93 77 1016.1
9 244 0.0 RE 10.7 1.00 76 10165 |
10 243 0.0 EB A 1.3 1.00 76 1016.2
11 243 0.0 = 9.8 1.00 77 1015.9
12 245 0.0 = 9.9 1.00 76 1015.3
13 245 0.0 = 10.2 1.00 78 10145
14 246 0.0 = 9.4 1.00 78 1013.6
15 247 0.0 = 10.0 1.00 77 10128
16 248 0.0 EXab 95 1.00 77 1012.8
17 24.6 0.0 = 8.1 1.00 76 1013.4
18 244 0.0 JtE=E 8.3 0.58 78 10138
19 244 0.0 HiE 9.1 0.00 78 10145
20 244 0.0 JtE= 9.2 0.00 80 1015.3
21 244 0.0 EE[A 8.9 0.00 81 1016.0
22 24.1 0.0 EB A 10.2 0.00 81 1015.9
23 241 0.0 HiLE 10.0 0.00 76 1016.0
24 240 0.0 = 95 0.00 77 10155
HExA 24.8 0.0 12.4 87 1016.5
—B&/D 236 0.0 8.1 76 1012.8
H ¥ 243 10.2 785 10148
aat 0.0 10.74
BERNT—%
EEFAB °C AEFHH °C
S=452 [ H29.6.30 37.0 SiESE [ H202.17 17.7
ZEFHH hPa AEFHH hPa
s=5/F [ H5.3.22 10245 SIESE [ 141124 | 9367
FRCE A H mm/day EREAH m./’s
SAHETE[ H1011.26 [ 2125 SARE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SM74E3[14A8 B B B
B Z| S M= EG JERES H BB B¥E TBE <t
B °C mm 1651 m.”'s h % hPa
1 24.0 0.0 94 0.00 78 1015.1
2 239 0.0 RILE 9.3 0.00 79 1014.4
3 23.9 0.0 miLE 9.4 0.00 81 1013.7
4 2338 0.0 EE[A 8.7 0.00 81 1013.6
5 23.9 0.0 miLE 9.2 0.00 79 1013.7
6 238 0.0 Jt&= 91 0.00 81 1014.4
7 2338 0.0 EE[A 9.6 0.00 80 1015.1
8 23.9 0.0 Jt@= 95 0.32 81 1015.8
9 241 0.0 & 10.2 0.83 80 1016.1
10 24.0 0.0 Hit® 9.8 1.00 80 1015.6
11 242 0.0 Jt= 10.0 1.00 82 1015.0
12 243 0.0 HiE 9.2 1.00 82 1014.4
13 244 0.0 Jb &= 8.2 1.00 84 10136
14 245 0.0 EE[A: 9.6 1.00 84 1013.0
15 244 0.0 Jt&= 95 1.00 82 1012.7
16 244 0.0 HiLE 9.3 1.00 81 10124
17 245 0.0 HitE 95 1.00 80 1012.8
18 244 0.0 Bit® 94 0.60 80 10135
19 243 0.0 tE 10.2 0.00 83 1013.9
20 24.2 0.0 Jt &= 10.7 0.00 83 1014.4
21 242 0.0 Jt= 11.1 0.00 83 1014.9
) 24.0 0.0 Jt= 11.6 0.00 84 1015.1
23 240 0.0 Jt= 1.0 0.00 85 10149
24 23.7 0.0 tE 15 0.00 88 10142
H&A 245 0.0 11.6 88 1016.1
B/ 23.7 0.0 8.2 78 1012.4
BEESS 241 98 817 1014.3
8t 0.0 9.75
BERNT—%
£EFHH °C £EFEHH °C
2=4:2 [ H29.6.30 37.0 2ESE [ H20217 17.7
$EFAH hPa HEEFEAH hPa
==<F [ H5322 10245 SESE [H1411.24 936.7
EEEH =] mm/day Etﬁﬁﬁ =] m.”'s
EXHF= H10.11.26 2125 2xEE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .




H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

HM7E3IA15H B N _
ig#] Sum M= NG JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 237 0.0 HiLE 10.9 0.00 88 1013.6
2 23.9 0.0 jt= 10.3 0.00 86 1012.9
3 239 0.0 EB A 10.7 0.00 87 1012.2
4 238 0.0 EE[A 10.8 0.00 86 1012.2
5 238 0.0 EB A 1.2 0.00 87 1012.2
6 241 0.0 HE 1.9 0.00 85 10125
7 239 0.0 EE[A 12.6 0.00 87 1012.6
8 233 0.0 EB A 10.0 0.02 95 1013.4
9 246 0.0 = 7.4 0.75 90 1013.3
10 25.1 0.0 = 7.2 1.00 90 10128
11 245 0.0 Jt= 8.6 1.00 90 1012.4
12 247 0.0 HiE 8.4 1.00 88 1011.8
13 24.6 0.0 JtE= 8.2 1.00 88 1010.9
14 247 0.0 EE[A: 6.9 1.00 89 1010.1
15 25.1 0.0 = 6.6 1.00 85 1009.3
16 252 0.0 = 6.2 1.00 87 1009.0
17 249 0.0 = 6.6 0.68 89 1009.2
18 245 0.0 = 58 0.00 91 1009.6
19 244 0.0 = 4.7 0.00 94 1009.8
20 244 0.0 = 49 0.00 93 1010.0
21 245 0.0 R R 36 0.00 95 1010.2
22 242 0.5 = 3.9 0.00 97 1010.3
23 23.9 05 £ 42 0.00 98 1009.9
24 239 0.0 i3] 34 0.00 99 1009.9
HExA 25.2 0.5 12.6 99 1013.6
Bz 233 0.0 34 85 1009.0
H ¥ 243 7.7 90.0 1011.3
aat 1.0 8.45
BERNT—%
EEFAB °C AEFHH °C
S=452 [ H29.6.30 37.0 SiESE [ H202.17 17.7
ZEFHH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .




H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

HM7E3IA16H B N _
ig#] Sum M= NG JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 239 0.0 75 4.1 0.00 98 1009.3
2 2338 0.0 PG 75 2.9 0.00 98 1008.8
3 237 0.0 75 2.6 0.00 97 1008.4
4 237 0.0 74 1.9 0.00 98 10085
5 238 0.0 5] 2.6 0.00 97 1008.7
6 235 0.0 78 16 0.00 99 1009.2
7 235 0.5 R 7 7 1.1 0.00 99 1009.7
8 244 0.0 - 2.3 0.38 97 1010.0
9 25.3 0.0 Gl 1.9 1.00 92 1009.9
10 247 0.0 SR 9.1 0.42 92 1009.6
11 255 0.0 kD 6.7 0.92 89 1009.2
12 25.6 0.0 RS 76 1.00 89 10085
13 255 0.0 5] 5.9 1.00 87 1008.1
14 25.8 0.0 I 7 5.1 1.00 91 1007.5
15 25.6 0.0 Sl 45 0.78 92 1007.1
16 25.9 0.0 7 4.9 0.92 88 1007.1
17 25.8 0.0 g ] 35 0.88 90 1007.5
18 25.1 0.0 L 55 0.37 90 1007.9
19 25.0 0.0 ILF 6.7 0.00 87 1008.6
20 25.1 0.0 Jt#E 6.7 0.00 88 1009.1
21 249 0.0 JbdL 7 7.6 0.00 88 1009.7 |
22 247 0.0 It 5.9 0.00 88 1009.5
23 24.6 0.0 It 6.3 0.00 88 1009.3
24 244 0.0 i 5.7 0.00 88 1009.2
HExA 25.9 0.5 9.1 99 1010.0
B/ 235 0.0 1.1 87 1007.1
- HEW 24.7 47 92.1 1008.8
aEt 05 8.67
BERNT—%
EEFAB °C AEFHH °C
S=458 [ H296.30 37.0 SiESE [ H202.17 17.7
ZEFHH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

HHM7E3IA1TR _ _ _
2l Kim & EN) JEBES H FR i i KE
B °C mm 165 fiL m.’s h % hPa
i 245 0.0 it FE 6.5 0.00 87 1009.1
2 244 0.0 EA 6.9 0.00 86 10085
3 244 0.0 JiEE 6.7 0.00 86 1008.0
4 243 0.0 E 6.3 0.00 85 1008.4
5 244 0.0 i 7.0 0.00 86 1008.8
6 243 0.0 i 7.6 0.00 84 1009.3
7 24.7 0.0 it 6.3 0.02 85 1010.0
8 24.1 0.0 i 8.4 0.08 85 1010.8
9 24.6 0.0 i 10.4 0.38 78 1011.1
10 24.8 0.0 i 9.5 0.83 76 1011.2
1 250 0.0 JedeE 8.7 1.00 76 1010.8
12 25.3 0.0 [ 8.1 0.97 73 10105 |
13 25.2 0.0 i 8.7 0.90 73 1009.7
14 245 0.0 i 102 0.95 77 1009.8
15 24.6 0.0 e[ &[4 9.7 0.88 73 1009.5
16 242 0.0 JtitE 9.6 1.00 76 1009.8
17 238 0.0 e[ 10.1 0.65 78 10104
18 235 0.0 P | 10.3 0.00 79 1011.2
19 235 0.0 itz 10.6 0.00 80 1011.6
20 235 0.0 P | 10.9 0.00 79 1012.2
21 235 0.0 it 11.0 0.00 79 1013.2
22 224 0.0 (2[4 105 0.00 89 1013.2
23 228 0.0 it 115 0.00 81 1013.2
24 225 0.0 itz 11.2 0.00 84 1012.8
B&X 25.3 0.0 115 89 1013.2
—B&/D 224 0.0 6.3 73 1008.0
B 24.1 9.0 80.6 10105
aat 0.0 7.66
BERNT—%
EFSEFCIE] °C EEFRH °C
SESE | H296.30 37.0 BESE | H202.17 17.7
ARFHH| hPa HEFHH| hPa
RESE | H5322 | 10245 BIESE | H1411.24 | 9367
EFEE HH] _mm/day EREAH] m/s
SABFE H10.11.26 | 2125 BAEE | H179.2 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

HM7E3IA18H B N _
(s Sum M= NG J2E =EEE D i [UE
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 22.7 0.0 Jtit= 10.9 0.00 82 1012.2
2 22.7 0.0 ET%: 11.0 0.00 81 1011.8
3 22.6 0.0 Jtit= 10.4 0.00 81 1011.6
4 227 0.0 Jt= 10.0 0.00 77 10118
5 22.8 0.0 Jt= 9.1 0.00 78 1012.2
6 225 0.0 Jte= 10.1 0.00 82 1012.7
7 227 0.0 Jb= 9.4 0.00 81 1013.6
8 229 0.0 |4 8.5 0.00 77 1014.6
9 231 0.0 BilE 9.3 0.12 76 1014.3
10 233 0.0 JtE 9.3 0.97 74 1014.1
11 234 0.0 Jt= 8.6 1.00 76 1013.8
12 233 0.0 ET%: 8.2 1.00 76 1013.4
13 23.1 0.0 Jte= 8.4 1.00 75 1012.6
14 231 0.0 Jt= 8.4 1.00 75 1012.2
15 23.0 0.0 = 7.2 0.78 76 1012.2
16 23.1 0.0 Jt= 7.1 0.45 76 1012.3
17 23.0 0.0 Jt= 78 0.43 76 10125
18 22.8 0.0 Jte= 7.9 0.17 77 10135
19 22.9 0.0 E[3: 9.4 0.00 71 1013.9
20 22.7 0.0 Jte= 10.4 0.00 79 1014.4
21 22.7 0.0 (A 9.6 0.00 77 1015.0
22 22.8 0.0 JtE= 9.7 0.00 77 1015.7
23 22.8 0.0 Jt= 9.5 0.00 78 1016.2
24 224 0.0 tE 10.2 0.00 81 1016.2
H&X 23.4 0.0 11.0 82 1016.2
B/ 224 0.0 7.1 74 1011.6
 BEH 22.9 9.2 776 10135
a&T 0.0 6.92
BERNT—%
EEFAB °C AEFHH °C
S=452 [ H29.6.30 37.0 SiESE [ H20.2.17 17.7
ZEFHH hPa AEFHH hPa
s=5/F [ H5.3.22 10245 SIESE [ 141124 | 9367
FRCE A H mm/day EReEHH m.”'s
SAHETE[ H1011.26 [ 2125 SARE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .




H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SM7EIA19H N _
(s Sum M= J2E =EEE D i [UE
i=3 °C mm m.”'s h % hPa
1 225 0.0 itz 10.0 0.00 77 1016.1
2 225 0.0 @2 10.0 0.00 78 1016.0
3 224 0.0 btz 9.9 0.00 77 1015.5
4 224 0.0 JtitE 8.7 0.00 74 1015.2
5 22.3 0.0 Jt= 8.2 0.00 76 1015.3
6 22.3 0.0 L 7.6 0.00 76 1015.6
7 225 0.0 titE 15 0.00 77 1016.2
8 228 0.0 it 1.7 0.78 74 1016.7
9 22.6 0.0 it 9.6 1.00 71 1016.9
10 22.8 0.0 JtitE 8.7 1.00 69 1016.9
11 22.6 0.0 Jtit= 9.0 1.00 69 1016.8
12 226 0.0 b= 9.2 1.00 70 1016.0
13 22.6 0.0 Jtdt | 9.4 1.00 68 1015.7
14 233 0.0 itz 8.7 1.00 67 1015.4
15 22.9 0.0 = 108 0.98 70 1015.2
16 230 0.0 [ 104 0.33 69 1015.3
17 22.6 0.0 jtitE 11.0 0.43 71 10155
18 22.3 0.0 P | 114 0.00 72 1016.1
19 22.1 0.0 iz 11.7 0.00 71 1016.9
20 22.1 0.0 P | 11.3 0.00 71 1017.5
21 221 0.0 itz 11.8 0.00 70 10181
22 22.0 0.0 itz 10.8 0.00 71 1018.3
23 22.1 0.0 JttE 10.1 0.00 70 1018.3
24 21.8 0.0 itz 10.1 0.00 69 1017.9
H&X 23.3 0.0 11.8 78 1018.3
H &/ 21.8 0.0 75 67 1015.2
 BEH 225 9.7 71.9 1016.4
BT 0.0 8.52
BERNT—%
EEFAB °C AEFHH °C
S=452 [ H29.6.30 37.0 SiESE [ H20.2.17 17.7
ZEFHH hPa AEFHH hPa
s=5/F [ H5.3.22 10245 SIESE [ 141124 | 9367
FRCE A H mm/day EREAH m.”'s
SAHETE[ H1011.26 [ 2125 SARE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .




H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

FM743A20H B B _
(s Kum S B[R] JRLE =EEE D i [UE
i=3 °C mm 1651 m.”'s h % hPa
1 216 0.0 it 10.3 0.00 66 1017.4
2 21.7 0.0 @2 9.6 0.00 67 1017.2
3 21.6 0.0 jtiezE 8.7 0.00 65 1017.0
4 21.7 0.0 itz 8.4 0.00 64 1017.0
5 21.6 0.0 jtitzE 8.8 0.00 61 1017.3
6 216 0.0 Jt= 88 0.00 67 1017.7
7 21.9 0.0 E[%: 10.3 0.22 68 1017.9
8 22.0 0.0 jt= 12.0 0.83 70 1018.4
9 22.3 0.0 1A 9.5 0.97 68 1018.6
10 224 0.0 Jt= 9.7 0.98 68 1018.3
11 22.4 0.0 == 95 1.00 74 1017.6
12 22.3 0.0 1E 10.6 1.00 69 1017.1
13 22.3 0.0 Jtit= 9.7 1.00 70 1016.5
14 222 0.0 Jt= 9.7 0.75 71 1016.0
15 22.0 0.0 b= 9.7 0.00 73 1015.7
16 219 0.0 Jt= 10.1 0.00 74 1015.6
17 22.2 0.0 &= 8.1 0.00 73 1016.1
18 22.1 0.0 L 9.6 0.00 73 1016.6
19 22.1 0.0 iz 10.0 0.00 75 1017.0
20 22.1 0.0 jt= 10.4 0.00 73 1017.4
21 221 0.0 Jt= 10.9 0.00 72 1017.9
22 22.0 0.0 Jt&= 114 0.00 73 1017.8
23 221 0.0 Jt= 113 0.00 73 10175
24 22.0 0.0 E[%: 9.8 0.00 72 1017.3
B&X 22.4 0.0 12.0 75 1018.6
—B&/D 21.6 0.0 8.1 61 1015.6
BH¥ 22.0 9.9 69.9 1017.2
= 0.0 6.75
BERNT—%
AEFHH °C AEFHH °C
2=45:8 [ H29.6.30 37.0 SIES;E [ H202.17 17.7
AEFAH hPa AERFAR hPa
E=5FE [ H53.22 10245 SIESE [H141124 [ 9367
A H] mm/day EReEHH m.”'s
SABEFmE HI01126 | 2125 SREE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .




H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

HM7E3IA21H B B _
(s Kum S B[R] J2E =EEE D i [UE
i=3 °C mm 1651 m.”'s h % hPa
1 22.0 0.0 L 9.8 0.00 73 1016.6
2 21.9 0.0 tiE 9.4 0.00 71 1016.1
3 22.0 0.0 jtiezE 8.8 0.00 73 1015.6
4 22.0 0.0 it 9.8 0.00 7 1015.6
5 22.2 0.0 jtitzE 9.7 0.00 71 1015.8
6 22.1 0.0 Jt= 18 0.00 76 1016.2
7 22.3 0.0 E[%: 11.0 0.00 73 1016.9
8 22.3 0.0 Jte= 12.1 0.00 72 1017.6
9 225 0.0 Jt= 11.8 0.12 73 1017.7
10 225 0.0 Jt= 11.9 0.42 74 10175
11 224 0.0 Jt= 116 0.80 73 1017.3
12 222 0.0 ET%: 12.2 0.47 74 1016.6
13 22.3 0.0 Jte= 12.1 0.18 72 1015.9
14 226 0.0 Jt= 11.2 0.95 74 1015.2
15 22.2 0.0 = 125 0.12 74 1014.8
16 224 0.0 Jt= 11.8 0.00 72 1015.1
17 22.3 0.0 Jt= 125 0.00 72 1014.9
18 22.2 0.0 Jte= 125 0.00 69 1015.7
19 22.0 0.0 1E 125 0.00 68 1016.3
20 22.0 0.0 Jte= 125 0.00 68 1016.6
21 219 0.0 Jt= 13.7 0.00 72 1017.1
22 22.0 0.0 Jt= 131 0.00 69 1017.2
23 22.0 0.0 Jt= 123 0.00 69 1017.2
24 21.8 0.0 E[%: 12.8 0.00 67 1016.9
H&X 22.6 0.0 13.7 76 1017.7
—B&/D 21.8 0.0 8.8 67 1014.8
BH¥ 22.2 116 71.6 1016.4
&t 0.0 3.06
BERNT—%
AEFHH °C AEFHH °C
S=452 [ H29.6.30 37.0 SiESE [ H20.2.17 17.7
AEFAH hPa AEFHH hPa
s=5/F [ H5.3.22 10245 SIESE [ 141124 | 9367
A H] mm/day EReEHH m.”'s
SAHETE[ H1011.26 [ 2125 SARE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

HM7E3IA22H B B _
(s Kum S B[R] J2E =EEE D i [UE
i=3 °C mm 1651 m.”'s h % hPa
1 21.7 0.0 Hilt= 12.6 0.00 65 1016.2
2 21.7 0.0 & 129 0.00 66 10155
3 21.6 0.0 jt= 13.0 0.00 67 1015.0
4 21.7 0.0 1A 13.1 0.00 66 1015.1
5 21.8 0.0 Jt= 125 0.00 67 1015.6
6 21.7 0.0 jt= 18 0.00 67 1016.4
7 21.9 0.0 E[%: 11.3 0.00 66 1017.1
8 22.1 0.0 == 118 0.00 70 1017.8
9 22.0 0.0 tx 12.1 0.00 68 1017.7
10 22.3 0.0 Jt= 11.7 0.38 65 1017.6
11 22.1 0.0 Jt= 116 0.88 64 1016.8
12 22.3 0.0 E 11.5 1.00 64 1015.7 |
13 22.3 0.0 jt= 11.7 1.00 69 1014.9
14 222 0.0 Jt= 12.0 1.00 68 1014.0
15 22.2 0.0 b= 125 0.95 70 1013.7
16 223 0.0 1A 125 027 69 1013.8
17 22.1 0.0 Jt= 12.6 0.00 72 1014.3
18 22.1 0.0 L 13.0 0.00 73 1014.9
19 216 0.0 BilE 132 0.00 75 1015.4
20 21.7 0.0 HE 12.3 0.00 76 1015.8
21 215 0.0 & 123 0.00 79 1016.2
22 21.7 0.0 Jt= 12.3 0.00 78 1016.5
23 218 0.0 Jte= 11.7 0.00 77 1016.3
24 21.8 0.0 iz 114 0.00 76 1016.1
H&X 22.3 0.0 13.2 79 1017.8
H &/ 215 0.0 1.3 64 10137 |
 BEH 21.9 122 69.8 1015.8
BT 0.0 5.48
BERNT—%
AEFHH °C AEFHH °C
S=452 [ H29.6.30 37.0 SiESE [ H20.2.17 17.7
AEFAH hPa AEFHH hPa
s=5/F [ H5.3.22 10245 SIESE [ 141124 | 9367
A H] mm/day EReEHH m.”'s
SAHETE[ H1011.26 [ 2125 SARE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

HM74E3IA23H B N _
ig#] Sum M= NG J2E B BE B i [UE
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 21.9 0.0 Jt= 12.3 0.00 74 10155
2 214 0.0 1A 114 0.00 78 1015.0
3 21.7 0.0 Jte= 116 0.00 73 1014.4
4 216 0.0 Jt= 10.9 0.00 74 1014.2
5 21.7 0.0 Jt= 105 0.00 72 1014.6
6 218 0.0 Jte= 116 0.00 71 10148
7 21.9 0.0 E[%: 104 0.00 72 1015.2
8 22.3 0.0 == 10.3 0.28 71 1016.0
9 22.3 0.0 & 10.3 0.73 73 1016.1
10 22.3 0.0 JtE= 10.6 1.00 72 1016.2
11 22.3 0.0 B 10.1 1.00 72 1016.1
12 224 0.0 ET%: 10.1 0.98 72 1015.4
13 224 0.0 Jte= 10.2 1.00 73 1014.4
14 225 0.0 Jt= 1.3 1.00 72 10135 |
15 22.1 0.0 = 11.9 1.00 74 1012.9
16 22.0 0.0 Jt= 12.0 0.27 75 10132
17 22.0 0.0 Jt= 12.0 0.00 75 1013.4
18 21.9 0.0 L 114 0.00 77 1013.9
19 22.0 0.0 RIiE 115 0.00 78 1014.1
20 21.9 0.0 JtE= 111 0.00 81 1014.4
21 22.3 0.0 EE[A 115 0.00 80 10147
22 224 0.0 EB A 116 0.00 82 1014.4
23 22.7 0.0 Jt= 1.2 0.00 84 1014.0
24 22.9 0.0 HE 105 0.00 83 10137
H&X 22.9 0.0 12.3 84 1016.2
B/ 214 0.0 10.1 71 1012.9
- HEW 221 11.1 75.2 1014.6
BT 0.0 7.26
BERNT—%
EEFAB °C AEFHH °C
S=452 [ H29.6.30 37.0 SiESE [ H20.2.17 17.7
ZEFHH hPa AEFHH hPa
s=5/F [ H5.3.22 10245 SIESE [ 141124 | 9367
FRCE A H mm/day EREAH m./’s
SAHETE[ H1011.26 [ 2125 SARE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

SM74E3[24A0 B B B
ig#] Sum M= NG JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 22.8 0.0 HiLE 10.3 0.00 84 1013.0
2 230 0.0 EE[A 9.6 0.00 86 1012.4
3 22.9 0.0 EB 3 95 0.00 86 1011.9
4 22.9 0.0 EE[A 9.9 0.00 87 10115 |
5 232 0.0 EB % 9.1 0.00 88 1012.0
6 233 0.0 EB A 8.6 0.00 89 1012.4
7 233 0.0 EE[A 8.6 0.00 88 1013.0
8 235 0.0 EB 3 7.7 0.00 88 10134
9 239 0.0 = 8.4 0.53 88 1013.2
10 238 0.0 HiLE 8.1 1.00 88 1013.2
11 243 0.0 = 75 1.00 86 10125
12 242 0.0 = 7.0 1.00 86 1011.7
13 244 0.0 = 8.0 1.00 86 1011.2
14 246 0.0 = 6.5 1.00 86 1010.8
15 244 0.0 HiLE 6.6 1.00 87 1010.7
16 245 0.0 = 5.7 0.30 88 1010.9
17 245 0.0 = 48 0.27 89 1010.9
18 243 0.0 B R 58 0.00 92 1011.3
19 243 0.0 = 45 0.00 90 1011.7
20 243 0.0 = 50 0.00 92 1012.2
21 242 0.0 = 5.9 0.00 92 10125 |
22 242 0.0 = 55 0.00 92 1012.7
23 242 0.0 Eab 5.7 0.00 92 1012.4
24 242 0.0 = 5.3 0.00 93 1012.0
HExA 24.6 0.0 10.3 93 1013.4
B/ 22.8 0.0 45 84 1010.7
- HEW 23.9 7.2 88.4 1012.1
a&T 0.0 7.10
BERNT—%
EEFAB °C AEFHH °C
S=458 [ H296.30 37.0 SiESE [ H202.17 17.7
EFAH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

HM7E3IA25H B N _
ig#] Sum M= NG JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 242 0.0 = 3.9 0.00 94 1011.3
2 24.1 0.0 = 34 0.00 95 10107 |
3 24.1 0.0 33 0.00 95 1010.1
4 24 1 0.0 BELE 31 0.00 94 1010.1
5 24.1 0.0 EB % 40 0.00 94 1010.5
6 239 0.0 = 2.7 0.00 95 1010.7
7 24.1 0.0 EAk 30 0.00 94 1011.0
8 244 0.0 = 3.9 0.12 93 1011.4
9 249 0.0 = 3.7 1.00 91 10115
10 25.1 0.0 = 35 1.00 90 1011.3
11 25.1 0.0 33 1.00 88 1011.0
12 247 0.0 RILE 45 1.00 90 1010.2
13 25.0 0.0 Jt= 47 1.00 90 1009.8
14 25.0 0.0 E[%: 4.7 1.00 90 1009.2
15 25.2 0.0 = 47 1.00 88 1008.8
16 25.1 0.0 E 5.2 1.00 90 1009.1
17 25.0 0.0 HiLE 46 1.00 91 1009.5
18 248 0.0 HiLE 55 0.53 93 1009.8
19 247 0.0 = 55 0.00 95 1010.3
20 247 0.0 = 5.1 0.00 95 1011.2
21 246 0.0 EaE 6.3 0.00 96 1011.6
22 24.6 0.0 = 3.9 0.00 96 1012.0
23 245 0.0 = 31 0.00 96 1012.0
24 243 0.0 = 38 0.00 96 1011.3
HExA 25.2 0.0 6.3 96 1012.0
Bz 239 0.0 2.7 88 1008.8
H ¥ 24.6 4.1 92.8 1010.6
aEt 0.0 9.65
BERNT—%
EEFAB °C AEFHH °C
S=458 [ H296.30 37.0 SiESE [ H202.17 17.7
EFAH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

HM74E3IA26H B B _
(s Kum S B[R] J2E =EEE D i [UE
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 242 0.0 JtE= 36 0.00 97 1011.0
2 24 1 0.0 EE[A 3.9 0.00 97 1010.6
3 24.1 0.0 JtE= 3.9 0.00 97 1010.2
4 241 0.0 EE[A 38 0.00 97 1010.2
5 24.1 0.0 EB A 41 0.00 98 10105
6 240 0.0 Jt= 44 0.00 98 1011.1
7 24.4 0.0 E[%: 48 0.48 96 1011.6
8 24.9 0.0 Jte= 48 1.00 94 10122
9 24.8 0.0 = 5.1 1.00 94 1012.3
10 25.0 0.0 JtE= 43 1.00 92 10123
11 25.0 0.0 b= 46 1.00 92 1012.0
12 25.1 0.0 ET%: 4.7 1.00 90 1011.2
13 25.1 0.0 Jte= 53 1.00 90 1010.8
14 25.0 0.0 (A 6.5 1.00 89 10104
15 25.1 0.0 Jte= 5.7 1.00 88 1010.3
16 25.1 0.0 &= 46 1.00 89 1010.3
17 25.0 0.0 EB 5.6 0.97 90 1010.8
18 247 0.0 [ 55 0.72 91 1011.3
19 246 0.0 HiE 5.2 0.00 92 1011.6
20 245 0.0 JtE= 5.9 0.00 93 1012.0
21 244 0.0 EE[A 5.6 0.00 93 1012.1
22 245 0.0 EB A 6.1 0.00 93 1012.4
23 244 0.0 JtE= 6.7 0.00 92 1012.3
24 243 0.0 HE 6.7 0.00 90 1011.6
H&X 25.1 0.0 6.7 98 1012.4
BRI/ 24.0 0.0 36 88 1010.2
By 246 5.1 92.9 1011.3
BT 0.0 1117
BERNT—%
EEFAB °C AEFHH °C
S=452 [ H29.6.30 37.0 SiESE [ H20.2.17 17.7
ZEFHH hPa AEFHH hPa
s=5/F [ H5.3.22 10245 SIESE [ 141124 | 9367
FRCE A H mm/day EReEHH m.”'s
SAHETE[ H1011.26 [ 2125 SARE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .




H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

HM7E3IA27H B N _
ig#] Sum M= NG J2E B BE B i [UE
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 242 0.0 H = 6.9 0.00 89 1011.1
2 242 0.0 EE[A 6.6 0.00 88 1010.9
3 242 0.0 EB A 7.0 0.00 88 1010.2
4 240 0.0 EE[A 6.3 0.00 90 1010.2
5 239 0.0 EB A 6.4 0.00 92 1010.7
6 240 0.0 HE 7.0 0.00 89 1010.9
7 242 0.0 EE[A 58 0.65 89 1011.6
8 243 0.0 EB A 6.2 1.00 88 1012.0
9 244 0.0 EE[A 5.4 1.00 89 1012.1
10 244 0.0 EB A 6.0 1.00 88 1012.1
11 244 0.0 HiLE 5.4 1.00 89 1011.7
12 248 0.0 T 39 1.00 89 1011.1
13 247 0.0 JtE= 3.9 1.00 89 1010.4
14 248 0.0 EE[A: 45 1.00 88 1009.8
15 249 0.0 JtE= 5.3 1.00 88 1009.4
16 249 0.0 EE[A 48 1.00 90 10095 |
17 248 0.0 EB A 5.6 0.97 91 1009.9
18 246 0.0 [ 56 0.57 94 1010.3
19 246 0.0 HiE 53 0.00 95 1010.7
20 247 0.0 JtE= 4.7 0.00 95 1011.4
21 247 0.0 EE[A 46 0.00 96 1012.2
22 247 0.0 EB A 43 0.00 96 10125
23 246 0.0 Hilt® 49 0.00 96 10125
24 24.6 0.0 = 46 0.00 96 1012.3
HExA 24.9 0.0 7.0 96 10125
BRI/ 23.9 0.0 39 88 1009.4
H ¥ 245 55 90.8 1011.1
a&T 0.0 11.19
BERNT—%
EEFAB °C AEFHH °C
S=452 [ H29.6.30 37.0 SiESE [ H202.17 17.7
ZEFHH hPa AEFHH hPa
s=5/F [ H5.3.22 10245 SIESE [ 141124 | 9367
EREAR mm/day EREAH m./’s
SAHETE[ H1011.26 [ 2125 SARE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

HM7E3IA28H B B _
ig#] Sum M= &[] JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 24.6 0.0 = 40 0.00 93 1011.8
2 246 0.0 = 47 0.00 92 1011.2
3 245 0.0 = 5.0 0.00 92 1011.1
4 244 0.0 = 48 0.00 92 1011.2
5 244 0.0 = 5.4 0.00 92 1011.4
6 244 0.0 = 49 0.00 91 10118
7 248 0.0 = 4.6 0.58 89 1012.3
8 25.1 0.0 = 45 1.00 87 10128
9 25.3 0.0 = 3.9 1.00 87 1013.1
10 255 0.0 = 42 1.00 84 1012.6
11 25.6 0.0 = 40 1.00 84 10123
12 25.2 0.0 4.3 1.00 84 10116
13 25.1 0.0 Jt= 5.1 1.00 87 1010.6
14 25.4 0.0 Hit® 4.7 1.00 87 1010.4
15 254 0.0 == 5.3 1.00 86 1010.1
16 25.4 0.0 EE[A 6.2 1.00 87 1010.2
17 25.2 0.0 EB % 6.3 1.00 89 1010.3
18 25.0 0.0 Jt= 6.7 0.60 91 1010.9
19 249 0.0 HiE 6.4 0.00 94 1011.4
20 249 0.0 Jt= 5.9 0.00 94 1011.9
21 248 0.0 EE[A 5.6 0.00 95 10127 |
22 248 0.0 = 47 0.00 95 1013.1
23 248 0.0 miLE 50 0.00 96 1013.2
24 248 0.0 tE 55 0.00 96 1013.2
HExA 25.6 0.0 6.7 96 1013.2
B/ 244 0.0 3.9 84 1010.1
- HEW 25.0 5.1 90.1 1011.7
=11 0.0 11.18
BERNT—%
£EFHH °C AEFHH °C
S=458 [ H296.30 37.0 SiESE [ H202.17 17.7
EFAH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIESE [ H14.11.24 936.7
EREAR mm/day EREAH m./’s
SXAmE[ H10.11.26 2125 SXEE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

HM7E3IA29H B N _
ig#] Sum M= NG JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 24.6 0.0 HiLE 5.3 0.00 96 1012.6
2 246 0.0 EE[A 4.7 0.00 97 1012.0
3 24.6 0.0 Jt= 5.0 0.00 97 1011.7
4 247 0.0 Jt= 45 0.00 97 10115 |
5 247 0.0 = 36 0.00 97 1012.0
6 245 0.0 = 39 0.00 97 1012.4
7 25.0 0.0 B E 3.3 0.70 96 1013.1
8 25.3 0.0 = 2.6 1.00 93 1013.9
9 25.9 0.0 = 2.5 1.00 91 1014.4
10 26.1 0.0 = 2.7 1.00 91 1014.6
11 25.8 0.0 miLE 2.7 1.00 91 1014.6
12 26.0 0.0 1E 30 1.00 90 10138
13 26.2 0.0 HiLE 2.6 1.00 88 1012.6
14 26.7 0.0 = 25 1.00 86 1012.2
15 26.3 0.0 = 30 1.00 85 1011.7
16 26.3 0.0 RILE 2.3 1.00 87 1011.7
17 26.2 0.0 = 35 0.97 87 10118
18 26.0 0.0 L 42 0.72 89 1012.1
19 25.9 0.0 3 4.1 0.00 91 1012.3
20 25.8 0.0 Jt= 47 0.00 92 10128
21 25.8 0.0 EE[A 46 0.00 92 10137 |
22 25.7 0.0 tE 4.7 0.00 94 1014.1
23 255 0.0 Jt= 53 0.00 95 1014.2
24 255 0.0 HE 5.4 0.00 95 1013.9
HExA 26.7 0.0 5.4 97 1014.6
—B&/D 245 0.0 2.3 85 1011.5 |
H ¥ 25.6 38 922 1012.9
a&T 0.0 11.39
BERNT—%
EEFAB °C AEFHH °C
S=458 [ H296.30 37.0 SiESE [ H202.17 17.7
ZEFHH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

HM74EIA0H B N _
ig#] Sum M= NG J2E B BE B i [UE
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 254 0.0 HiLE 46 0.00 95 1013.3
2 254 0.0 = 4.4 0.00 95 10127 |
3 254 0.0 = 4.1 0.00 95 1012.7
4 25.3 0.0 RILE 40 0.00 96 1012.8
5 252 0.0 = 4.4 0.00 97 1013.2
6 25.2 0.0 HiLE 42 0.00 96 1013.7
7 25.7 0.0 = 4.2 0.43 96 1013.9
8 25.8 0.0 L 35 0.78 95 1014.7
9 25.8 0.0 EE[A 4.2 0.82 95 10145
10 25.8 0.0 EB A 5.2 1.00 93 1014.4
11 26.0 0.0 HiLE 37 0.95 92 10145
12 26.1 0.0 HiE 43 1.00 91 1013.9
13 26.1 0.0 EB A 50 1.00 90 1013.4
14 26.3 0.0 EE[A: 43 1.00 90 1012.9
15 26.0 0.0 EB A 4.7 1.00 89 1012.4
16 25.9 0.0 EE[A 4.7 1.00 89 1012.0
17 25.9 0.0 EB A 44 0.93 89 1011.6
18 25.8 0.0 Hi = 48 0.75 91 10118
19 25.7 0.0 HiE 4.6 0.00 91 1012.2
20 25.6 0.0 = 46 0.00 92 10128
21 254 0.0 RIiLE 4.6 0.00 93 1013.1
22 25.6 0.0 = 53 0.00 91 1013.4
23 25.4 0.0 Jt= 6.0 0.00 91 10134
24 25.4 0.0 HE 6.1 0.00 91 1013.2
H&X 26.3 0.0 6.1 97 1014.7
Bz 252 0.0 35 89 1011.6
H ¥ 25.7 46 926 1013.2
a&T 0.0 10.66
BERNT—%
EEFAB °C AEFHH °C
S=452 [ H29.6.30 37.0 SiESE [ H202.17 17.7
ZEFHH hPa AEFHH hPa
s=5/F [ H5.3.22 10245 SIESE [ 141124 | 9367
FRCE A H mm/day EREAH m./’s
SAHETE[ H1011.26 [ 2125 SARE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .



H/BRFX/MNI)RRBAT—5

t#&:20E 255 E#F:136F05%

HM74E3IA3H B N _
ig#] Sum M= NG JRER B BE B i Ut
i=3 °C mm 16 51{¢ m.”'s h % hPa
1 25.3 0.0 Jt= 6.8 0.00 92 1012.6
2 254 0.0 RILE 6.4 0.00 90 1012.3
3 25.3 0.0 = 6.5 0.00 89 10118
4 252 0.0 = 7.9 0.00 88 1011.8
5 252 0.0 = 6.6 0.00 87 1012.3
6 25.1 0.0 = 58 0.00 88 1012.6
7 25.3 0.0 = 58 0.55 88 1013.1
8 254 0.0 R R 7.0 0.88 87 1013.4
9 25.8 0.0 ENE 6.5 1.00 86 1013.4
10 26.0 0.0 = 58 1.00 81 10135
11 26.2 0.0 5.2 1.00 78 1013.1
12 25.9 0.0 R 48 1.00 81 1012.3
13 26.4 0.0 JtE= 2.4 1.00 81 1012.3
14 26.3 0.0 jt= 2.6 1.00 81 10115
15 26.5 0.0 JtitE 3.4 0.92 79 1011.0
16 25.7 0.0 EE[A 5.4 0.43 83 10105
17 25.6 0.0 = 5.9 0.00 86 1010.0
18 25.6 0.0 = 5.7 0.00 86 1010.4
19 25.8 0.0 = 55 0.00 82 1011.4
20 25.9 0.0 = 5.8 0.00 81 1011.8
21 25.6 0.0 = 5.0 0.00 83 1012.1
22 255 0.0 HiLE 44 0.00 86 1012.2
23 254 0.0 Jt= 51 0.00 89 1012.0
24 25.4 0.0 HE 6.1 0.00 89 1011.4
HExA 26.5 0.0 79 92 10135
B/ 25.1 0.0 2.4 78 1010.0
- HEW 25.7 55 85.1 1012.0
aat 0.0 8.78
BERNT—%
EEFAB °C AEFHH °C
S=458 [ H296.30 37.0 SiESE [ H202.17 17.7
EFAH hPa AEFHH hPa
B=SE | H5.3.22 10245 SIES/E [ H141124 | 9367
EREAR mm/day EREAH m./’s
SXAmE[ H101126 | 2125 SXEE [ H1792 55.2

AT —A(%. 5639.25~RA1231T D BB E A RIZLTLET .



